€co 6o Padd. S A #HS KEY  Flt zeoy
4

.3
U= x Y

x® = .3z fr vt o= 7 1/P,
PR P
é")(, Px\ :,‘ . éPK '
4 X I -1
Exx = 31z x T 3P . T /(3T/P) = |
Py
=<

- 3T P Pk [(32R) < -

x
Ui

original
constraint

new
constraint

............ ; J

10 20 30 40 50
cashews

Sea Qo #H 2 Tt H I Key



e\ anlw,

i (e 2.7

N
L]
=

q 9 S.04
4 2 3018

:
?

} s, < ) ’ S
.,‘: ) \‘. )

i3

u= 35y 2 3(2),/3(?)#;: 24

+ WY
v -

2 ¢ & F o 12 % s IF 20 382 L4 2 5 30 X

;t« ‘.,tf._w m poe Al ,/ ...Zf,ézf oo Lafeur

Ha poice of X A



(I hskey




